

## RIMBEY REG TUES SALE

Lot	Pen	Description	Avg WT	Total WT	Shrink	Hauled	Feed	Health	Owner	Buyer	Price
1	Al	6 MXD STEER	662	3972	3%	17KM	OFF COWS, BARLEY SILAGE, GOOD HAY & STRAW	BOVISHIELD GOLD FP PROGRAM, ONE SHOT & VISION 8 ON OCT 9, BANDED OCT 9, AGE VERIFIED, CHAR/SIMM X	MURRY HEILEMANN		
2	A2	3 MXD STEER	553	1659	3%	17KM	OFF COWS, BARLEY SILAGE, GOOD HAY & STRAW	BOVISHIELD GOLD FP PROGRAM, ONE SHOT & VISION 8 ON OCT 9, BANDED OCT 9, AGE VERIFIED, CHAR/SIMM X	MURRY HEILEMANN		
3	A3	6 MXD HEIFER	627	3764	3%	17KM	OFF COWS, BARLEY SILAGE, GOOD HAY & STRAW	BOVISHIELD GOLD FP PROGRAM, ONE SHOT & VISION 8 ON OCT 9, BANDED OCT 9, AGE VERIFIED, CHAR/SIMM X	MURRY HEILEMANN		
4	A4 RING	2 MXD MIXED CATTLE	0	0	0%	17KM	OFF COWS, BARLEY SILAGE, GOOD HAY & STRAW	BOVISHIELD GOLD FP PROGRAM, ONE SHOT & VISION 8 ON OCT 9, BANDED OCT 9, AGE VERIFIED, CHAR/SIMM X	MURRY HEILEMANN		
5	A5	6 MXD HEIFER	749	4491	3%	20KM	SILAGE, WEANED NOV 5	BOVISHIELD GOLD ONE SHOT & 8 WAY IN FALL & APR 15, LIMO X, OPEN HFRS	RANDY TENNANT		
6	A6	3 MXD HEIFER	734	2202	3%	20KM	SILAGE, WEANED NOV 5	BOVISHIELD GOLD ONE SHOT & 8 WAY IN FALL & APR 15, LIMO X, OPEN HFRS	RANDY TENNANT		
7	A7 RING	1 BRN HEIFER	0	0	0%	20KM	SILAGE, WEANED NOV 5	BOVISHIELD GOLD ONE SHOT & 8 WAY IN FALL & APR 15, LIMO X, OPEN HFRS	RANDY TENNANT		

8	502	7 TMX HEIFER	867	6070	0%				LORNE MCCLAFLIN
9	511	13 TMX HEIFER	1026	13333	3%	90KM	ALFALFA HAY & BARLEY	8 WAY IN NOV & APRIL	CORY WOYTOWICH
10	512	12 TMX HEIFER	946	11354	3%	90KM	ALFALFA HAY & BARLEY	8 WAY IN NOV & APRIL	CORY WOYTOWICH
11	504	4 TMX HEIFER	929	3715	3%	90KM	ALFALFA HAY & BARLEY	8 WAY IN NOV & APRIL	CORY WOYTOWICH
12	503 RING	2 MXD HEIFER	0	0	0%	90KM	ALFALFA HAY & BARLEY	8 WAY IN NOV & APRIL	CORY WOYTOWICH
13	PALPATED HFRS, PAIRS & BREDS SELLING AT NOON	1	0	0	0%				UNKOWN
14	404	4 RMX HEIFER	968	3870	3%	72KM	CEREAL SILAGE WITH CANOLA MEAL & CUSTOM MINERAL, NO GRAIN	ZOETIS GOLD PROGRAM IN SPRING & FALL, SAFEGUARD & CLEAN UP 2 IN JAN, NO BRANDS, NO IMPLANTS, SIMM X	JOSIE CRAWFORD
15	406	6 RED HEIFER	1030	6179	3%	72KM	CEREAL SILAGE WITH CANOLA MEAL & CUSTOM MINERAL, NO GRAIN	HOME RAISED, ZOETIS GOLD PROGRAM IN SPRING & FALL, SAFEGUARD & CLEAN UP 2 IN JAN, NO BRANDS, NO IMPLANTS, SIMM/ANGUS, AGE VERIFIED X	JOSIE CRAWFORD
16	408	7 RED HEIFER	961	6727	3%	72KM	CEREAL SILAGE WITH CANOLA MEAL &	HOME RAISED, ZOETIS GOLD PROGRAM IN SPRING & FALL, SAFEGUARD & CLEAN UP	JOSIE CRAWFORD

							CUSTOM MINERAL, NO GRAIN	2 IN JAN, NO BRANDS, NO IMPLANTS, SIMM/ANGUS, AGE VERIFIED X	
17	410	8 RED HEIFER	887	7096	3%	72KM	CEREAL SILAGE WITH CANOLA MEAL & CUSTOM MINERAL, NO GRAIN	HOME RAISED, ZOETIS GOLD PROGRAM IN SPRING & FALL, SAFEGUARD & CLEAN UP 2 IN JAN, NO BRANDS, NO IMPLANTS, SIMM/ANGUS, AGE VERIFIED X	JOSIE CRAWFORD
18	412	4 RMX HEIFER	832	3327	3%	72KM	CEREAL SILAGE WITH CANOLA MEAL & CUSTOM MINERAL, NO GRAIN	HOME RAISED, ZOETIS GOLD PROGRAM IN SPRING & FALL, SAFEGUARD & CLEAN UP 2 IN JAN, NO BRANDS, NO IMPLANTS, SIMM/ANGUS, AGE VERIFIED X	JOSIE CRAWFORD
19	422 RING	1 RED HEIFER	0	0	0%	72KM		HOME RAISED, ZOETIS GOLD PROGRAM IN SPRING & FALL, SAFEGUARD & CLEAN UP 2 IN JAN, NO BRANDS, NO IMPLANTS, SIMM/ANGUS, AGE VERIFIED X	JOSIE CRAWFORD
20	416	3 RBF HEIFER	998	2994	2%	120KM	HAY, WEANED NOV 1	BOVISHIELD GOLD ONE SHOT, 8 WAY W/SOM & IVOMEC IN FALL, PURE BRED SIMM, MID MAR /APR CALVES, COULD BE PAPERED, AGE VERIFIED, SIMM	DAVID HAWKINS
21	418	5 RED HEIFER	983	4915	2%	120KM	HAY, WEANED NOV 1	BOVISHIELD GOLD ONE SHOT, 8 WAY W/SOM & IVOMEC IN FALL, PURE BRED SIMM, MID MAR /APR CALVES, COULD BE PAPERED, AGE VERIFIED, SIMM	DAVID HAWKINS
							НАҮ,	BOVISHIELD GOLD ONE SHOT, 8 WAY W/SOM & IVOMEC IN FALL, PURE	

22	420 RING	1 BLK HEIFER	0	0	0%	120KM	WEANED NOV 1	BRED SIMM, MID MAR /APR CALVES, COULD BE PAPERED, AGE VERIFIED, SIMM	DAVID HAWKINS
23		23 MXD COW & CALF PAIR	0	0	0%				ROBERT NICOLAY
24	834	4 MXD COW & CALF PAIR	0	0	0%				RANDY, LINDA & WYATT TENNANT
25	601	1 MXD COW & CALF PAIR	0	0	0%				RANDY, LINDA & WYATT TENNANT
26	602/603	12 MXD COW & CALF PAIR	0	0	0%			APR BORN CALVES, LIMO /ANGUS COWS, ANGUS SIRED CALVES	GREEN PASTURES HOLDINGS
27		6 MXD COW & CALF PAIR	0	0	0%			FIRST DEFENSE BOLUS, VITAFERST AT BIRTH, & BANDED AT BIRTH	NEIL DUFFY
28		5 MXD COW & CALF PAIR	0	0	0%				JEFF VERT
29		5 MXD COW & CALF PAIR	0	0	0%				ALLAN THOMPSON
30		7 MXD COW & CALF PAIR	0	0	0%				RILEY HICKEY
31		6 MXD COW & CALF	0	0	0%				MURRAY HANNAH

	PAIR						ĺ
32	1 MXD COW & CALF PAIR	0	0	0%		LANDEN NIKIRK	
33	1 MXD COW & CALF PAIR	0	0	0%		MARK HOPP	
34	1 MXD COW & CALF PAIR	0	0	0%		TOM GARDNER	
35	1 MXD COW & CALF PAIR	0	0	0%		AUGUSTSSON RANCHES INC.	
36	3 MXD COW & CALF PAIR	0	0	0%		THEO ROSEBOOM	
37	3 MXD COW & CALF PAIR	0	0	0%		STAN GILCHRIST	
38	5 MXD COW	0	0	0%		RANDY TENNANT	
39	1 MXD COW	0	0	0%		GREEN PASTURES HOLDINGS	
40	6 MXD COW	0	0	0%		UNKOWN	